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O0ZEaNHS 200,000& #2721 x23] 10,800
Ool&sloas=g 20,0003 #2721 23| x 128 12,960
Otttz =g 50,000& =132¢2! 6,600
09 AL HIZ &S 1,000 1,000 0
OLE % A S H&X AUl 24
1,000, 000& 14 1,000
NEH HAL 2F 2l 37,343 21,915 15,428
201 24l 17,343 19,483 AN2,140
02 =224l 17,343 19,483 AN2,140
O3 & HA 10,343,000 =14l 10,343
O =l 4,500,000& =14 4,500
OAE ZHI S X 2,500,000 » 14! 2,500
401 A& HIZ 201 8] 20,000 0 20,000
01 A& HI 20,000 0 20,000
OFAL & &1 g=ZA 20,000,000& =14 20,000
AN 438 XA 88,994 76,355 12,639
101 @124l 8,328 7,296 1,032
04 D12t Z22HEE = 8,328 7,296 1,032
O= Ot=&el S&4X 33|
69,4003 321 x40 8,328
201 Let2d] 23,546 22,019 1,527
01 At 22l 12,735 13,603 A 868
Oget=&H| 10,735,000& 14 10,735
Oo2g+¢ 2,000,000& =14 2,000
02 2324l 9,811 7,416 2,395
ORERS 4,000,000& =14 4,000
OXNERXBI(S2ALE) 3,416,000 «1CH 3,416
OXER X (SXIXE) 2,395,000 = 1CH 2,395
03 A2 Z Hl 1,000 1,000 0
OS=HM Hedlbl 1,000, 000& 14 1,000
202 o4dl 57,120 47,040 10,080
01 = LH o4 1l 57,120 47,040 10,080




2A: NEH
M XM FOMBANHASS A5
oel XFH FoME XL (St
= - SHE|
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SPIEEEEEE 4,760,000 * 122 57,120
YT A SR 2 6,600 0 6,600
201 L2 6,000 0 6,000
01 AL 22l H 2,000 0 2,000
Ot 2H| 2,000,0008 * 14l 2,000
02 22 ZH| 4,000 0 4,000
O2=222 ¥ HA 3,500, 0008 * 14! 3,500
OAl & ZHI S XIH 500,0008 * 14l 500
405 XFAHE S HI 600 0 600
01 XA 2 E F S 600 0 600
O=2E)| (o) 600,000 = 1CH 600
XNEHE ALY 2 319,880 318, 160 1,720
NEH AR =pi=2AY 319,880 318, 160 1,720
XNEH F0=2AAY 301,000 301,000 0
401 AlEHIZ 20 301,000 301,000 0
01 Al&HI 300,000 300,000 0
Ozs 12l s2 T &2 AH(L=150m)
20,000,000 1Al 20,000
Oztslenl o232 & a8H =4
9,000,0008 x4l 9,000
Q2832 s2 T X2 AHL=170m)
22,000,000 1Al 22,000
O2ts42] s 2T X T AH(L=170m)
22,000,000 1Al 22,000
OBt 12l =24 X2 AH(L=130m, D800)
30,000,000 14l 30,000
QU222 S22 Z A2 AHL=120m)
24,000,000 1Al 24,000
OQtE22] NI & X H|I 2 AHL=60m, H=2.5m)
25,000,000 1Al 25,000
OJt=22 =24 X2 AHL=110m, D600)
12,000,000 * 14! 12,000
OEs12l S2ZFZ AH(L=90m, B=3m)
15,000,000 * 14! 15,000
OS2 55 02 AN 2 AH(L=400
m) 20,000,000 1Al 20,000
OfS32 MEBLDAF L SHEHE A (L=40m)
18,000,000 * 14! 18,000
Ogs42] 52 T X2 AHL=200m)
26,000,000 14l 26,000
OdlE12] =24 X2 AHL=170m, D600)
19,000,000 * 14! 19,000
OAZ22| HRZEEZRAHL=100m)
14,000,000 * 14! 14,000




SA: N
H: XA ALY &EHI
Cell NED ARD FUSAAY (el @2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OXl=E3el ot2etY Z &2 AH(L=180m)
24,000,000& *14] 24,000
03 A& 2 0HbI 1,000 1,000 0
OAN&EL2UbI 1,000,000 * 14 1,000
NEH F00=SHHA L A 18,880 17,160 1,720
101 @121l 13,880 12,160 1,720
04 JI2ZtHI 22 XNEE 13,880 12,160 1,720
Okxzg4H s &x=HA 69,400& *1021 x 15 10,410
OxzH S H&Exy 69,400& x501 %10 3,470
206 M =8l 5,000 5,000 0
01 X2 bl 5,000 5,000 0
OHEZA 500&*10,000= 5,000
A& HH2HHHI 100,951 70,864 30,087
NEH oA 2HH| 50,307 39,736 10,571
NEH ol 2AH| 50,307 39,736 10,571
101 2121 4| 50,307 39,736 10,571
01 2 49,436 39,012 10,424
OAZ2tZ222Y 10,299& * 1621 *300 Al 2+ 49,436
03 RIAHAEZZXE 871 724 147
o¢&azzx4g 871
DEASANR(BEFY])
14,512& 121 x60 Al 2t 871
XNEH JI23Hl 50,644 31,128 19,516
NEH IS8 50,644 31,128 19,516
201 Bt A | 7,608 7,028 580
01 AP 22l Yl 7,608 7,028 580
ORANEE=EH| 3,000,000& x 14 3,000
OF=1=1:] 8,000& x1621*33| x12& 4,608
202 O B 2,000 2,000 0
01 2L Y| 2,000 2,000 0
O&2 ¢dl 2,000,000& x 14 2,000
203 &R =&H| 10,920 10,200 720
01 J|2A2HLR=XH| 6,600 6,600 0
OXNEHEY 6,600,000& 12! 6,600
02 HRJAE R =&Y 720 600 120
OFAAINNMAR2FEY| 40,000& *=18¢2l 720
04 EANSHLRE=XH| 3,600 3,000 600
ORANSIELERF=AH| 300,000& x12& 3,600
405 XtabF SHI 30,116 11,900 18,216
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X ZH -
L= B

el

AEH
nEe
ANEH D
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e

kl'o-

01
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i
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23,916,000 «1CH
1,300,000 *2CH

700,000 = 1CH
2,900,000 *1CH




= o
N & o & AF & H A A
20198 &= ES0l& LA 2BUS ~ AEEZ AL
SN 22
M 220 FOMHMHAZE 23
oelr SEY FUMEXD (el @2)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
FEH 613,275 562,815 50,460
2E2Y FUHINHAES 235 205,121 174,726 30,395
FEH MR 205,121 174,726 30,395
FEH FUFHAH 61,080 69,080 A 8,000
201 L2l 2,000 10,000 A 8,000
03 &Ar2 I 2,000 10,000 A 8,000
OREH =SEBAMIIS A 1,000, 000& 14 1,000
OS=H Hedlbl 1,000, 000& 14! 1,000
301 L2 LS 59,080 59,080 0
05 ESE-0%-EHEEES2483 55,080 55,080 0
OIUFSE=, 200,000& =162 x12& 38,400
OozEarH= 200,000& 1621 %23 6,400
O0l&slo &EA&x2 20,0003 %1621 +23|x12& 7,680
Ogtd =g 25,0003 5201 %23 2,600
09 HALAHIE& S 4,000 4,000 0
ONS L #A S HAT Ay S
1,000, 000& 14 1,000
O3k B3H dEH=sU 3,000,000 » 14! 3,000
2EY A2 31,134 21,134 10,000
201 et 21,134 21,134 0
02 22224l 21,134 21,134 0
OZ22322=2 % HAl 14,032,000& 14 14,032
O =zl 4,102,000 =14 4,102
OA& &8s Xl 3,000,000& =14 3,000
401 AIEBIZ 28I 10,000 0 10,000
01 A& tl 10,000 0 10,000
OFAL &= ZA 5,000,000 =14l 5,000
OFEA T ZA 5,000,000& » 14! 5,000
FEH HdFNA 71,907 69,512 2,395
201 et 25,827 23,432 2,395
01 At 2t 2l 12,000 12,000 0
Ogpt=&H| 10,000, 000& * 14 10,000
ozdg=+4¢ 2,000,000& » 14l 2,000
02 =224l 13,827 11,432 2,395
ORER= 4,600,000& =14 4,600
OXNERXE(3d24E) 3,416,000 »2CH 6,832
OXERXIBI (=X RHE) 2,395,000% *1CH 2,395
202 odl 46,080 46,080 0
01 = LH o4 1l 46,080 46,080 0




2N 2E
MY 220 FOUBPMUAHE 23
Sel: HE0 FUMEX CER-ED
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OJleg24+s8 | 3,840,000 x12& 46,080
E2H FO0IXNMEH 2% 41,000 15,000 26,000
201 LBt Y| 15,000 15,000 0
01 AP 22| d| 15,000 15,000 0
OF0XXAE SHH| 15,000,000& = 1Al 15,000
401 Al HI L 204 HI 26,000 0 26,000
01 Al & H| 26,000 0 26,000
O=EX3a& KXot 2=Z2At 26,000,000 x 14! 26,000
EE2H AIE A 319,880 318, 160 1,720
E20H AR2F0=2AAY 319,880 318, 160 1,720
E20H F0=2AAY 301,000 301,000 0
401 Al HI L 2 0HHI 301,000 301,000 0
01 Al&H| 300,000 300,000 0
LEle] L= BHE2 FH| =2 AHL=220m)
19,000, 000& » 1Al 19,000
OLgoel 2Bl 0 2et2 & Ul 2 AH(L=430m)
18,000, 000& » 1Al 18,000
Oet2e] ZH=s s2 Z 2 AH(L=120m)
19,000, 000& = 1Al 19,000
OQct22e] A2 Hi =2 HH| 2 AH(L=150m)
19,000, 000& * 1Al 19,000
OgAE1el ot DSt HH| 2 AH(L=140m)
18,000, 000& » 1Al 18,000
OY A28l DAIE 0FS0e+2 & H|I 2 AH(L=420m)
20,000,000& = 14! 20,000
OYA3el SN 0SSt HH| 2 AH(L=460m)
19,000, 000& » 1Al 19,000
Oz21e s=2 0tSet2 HH| 2 AH(L=150m)
19,000, 000& » 1Al 19,000
O&22e 242 0tsSot2 T ZAHL=110
m) 18,000, 000& * 1Al 18,000
O&232 MY 0tsSot2 HH| 2 AH(L=440m)
19,000, 000& * 1Al 19,000
OZAAHEl 250 0222 A HI 2 AHL=310m)
19,000, 000& * 1Al 19,000
OQAA2e] H=2 0SSt HH|Z2AH(L=160m)
19,000, 000& * 1Al 19,000
OFA3E ME 52 Z X2 AHL=150m)
18,000, 000& » 1Al 18,000
QA 4| 2E DSt A H| 2 AH(L=650m)
18,000,000 1Al 18,000
OES1el 2H0 s2 ZZ 22 AH(L=200m)
19,000,000 1Al 19,000
Os522 22 0t20+2 FHIZ AH(L=420m)
19,000,000 1Al 19,000




SN 2
H: 220 AHAEH|
Ol RED ANDENSAAL (el @2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
03 A& 2 0HbI 1,000 1,000 0
OAN&EL20UbI 1,000,000 » 14! 1,000
20 F0ZHolA Y SHAHH| 18,880 17,160 1,720
101 @121l 13,880 12,160 1,720
04 JI2ZtH 22 XNEE 13,880 12,160 1,720
Okxzg4H s &xHA 69,400& *1021 x 15 10,410
OxzH S ey 69,400& x50 %10 3,470
206 M= Hl 5,000 5,000 0
01 X2 bl 5,000 5,000 0
OHEZATH 500&*10,000= 5,000
S22 HF2HFY| 88,274 69,929 18,345
SE2H o0d2HH| 34,858 36,735 N 1,877
FE20 oE2HY| 34,858 36,735 AN1,877
101 2121 4| 34,858 36,735 AN1,877
01 2 33,987 36,011 N2,024
OAZ2tAZ222Y 10,299& *1121 %300 Al 2+ 33,987
03 RIAHAEZZRE 871 724 147
o¢&azzx4g 871
DEASANR(EEFY])
14,512& x121x60 Al 2t 871
28H IS8l 53,416 33,194 20,222
80 J=2&t| 53,416 33,194 20,222
201 Bt A | 9,456 9,744 N 288
01 AP 22l Yl 9,456 9,744 N\ 288
OFRAEY Ldetx=2H| 6,000,000& x 14 6,000
OZ &l 8,000& x1201x33| x12& 3,456
202 O B 5,840 5,840 0
01 2L Y| 5,840 5,840 0
O&2 bl 2,000,000& x 14 2,000
OJI2g2+=80 bl 320,000& x12& 3,840
203 R =&lY| 10,120 10, 160 N40
01 J|2A2I PR =Y 6,600 6,600 0
OREHE 6,600,000& x1¢! 6,600
02 3N R =AY 520 560 A40
O&FJAIMME R =AY 40,000& =13¢2! 520
04 ENESI IR =AY 3,000 3,000 0
ORMNS2gIRF&Y| 250,000& = 12& 3,000
405 X+HoHF SHI 28,000 7,450 20,550
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= o
A & 0 & 2 & Al
20198 &= ES0l& LA 2BUS ~ AEEZ AL
S el
H: HeHHFCHEINH A 2SS LS
DHHH =R MBI R CEE-ED
= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il Bl RE2
547,040 539, 364 7,676
HelHFHEMH AR S LS 170,694 165,229 5,465
HelHFCIME TR 170,694 165,229 5,465
HeAH=URNXNEEHZ S 18,000 15,000 3,000
201 L2l 15,000 15,000 0
01 At 22l 15,000 15,000 0
OFUXXEEH 2L 15,000, 000& 14 15,000
405 XtAtE SHI 3,000 0 3,000
01 AR ESFH S 3,000 0 3,000
OFUXNXNLH HICLEZ2HEH (WHM)
3,000,000& x14 3,000
FHeHHFUEAHE 48,920 48,920 0
301 et a3z 48,920 48,920 0
05 8% -0 -tHESEH3 47,920 47,920 0
Ool&=¢ 200,000& x14Q1x12& 33,600
O0ZANHS 200,000& 1421 %23 5,600
OO0l&E3alo &2 20,0008 *1421 23] 128 6,720
Otttz e =l 25,000& *40Q1 x23] 2,000
09 &AL HI B A S 1,000 1,000 0
ORT U #AF S HAK AR
1,000, 000& 14 1,000
HeHHEFA2E 22 31,414 26,381 5,033
101 @124 dl 4,303 3,770 533
04 JI2ZHHZ22XREES 4,303 3,770 533
O=Xga d3a & 22 69,4003 x201+31& 4,303
201 Let24d] 22,611 22,611 0
02 =24l 22,611 22,611 0
Oz22= & HMA 18,611,000& 14 18,611
OAIE ZHI S X 4,000,000& 14! 4,000
401 AIEHI L 2 CHYI 4,500 0 4,500
01 A& HI 4,500 0 4,500
O HH uH 3,000,000& =14 3,000
OFA 28 ==& WH 1,500, 000& 14 1,500
HeiHAZ XA 72,360 74,928 N 2,568
101 @124 Hl 8,328 7,296 1,032
04 JIZHHZ2XREES 8,328 7,296 1,032
O+ Ot=22c F2X 33
69,4003 x301+40 8,328
201 Zet24E] 20,832 20,832 0




S FeHs
Ha: PeHe

(=}

=
T e o
Sl P EIMEX

[ukd

QI H NI AE LS

| &

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 10,500 10,500 0
O e8| 9,000,000& 14 9,000
o=zg=¢ 1,500, 000& 14 1,500
02 =224l 8,332 8,332 0
OfERI 1,500, 000& 14 1,500
OXERXH (FELEH) 3,416,000 »2CH 6,832
03 A2 Z Hl 2,000 2,000 0
S=M Heldl 1,000, 0002 14| 1,000
OFcHH =SEEA I8 A 1,000,000 *14) 1,000
202 04l 43,200 46,800 A 3,600
01 = LH 4 Hi 43,200 46,800 A 3,600
OJlege=a80utl 3,600,000& x12& 43,200
e 8 ALY B HI 319,880 318,160 1,720
HAHARESFUSRAMS 319,880 318,160 1,720
HeHHFU=SJAALS 301,000 301,000 0
401 Al HI K 2018 301,000 301,000 0
01 A& HI 300,000 300,000 0
O8g1el otserd Fdl 3 AH(L=400m, B=3.0m)
25,000,000& =14 25,000
O8g2el ot2er FHl S AH(L=150m, B=3.0m)
20,000,000& =14 20,000
Ol =2 Hdl3AH(L=180m, B=3.0m)
20,000,000& =14 20,000
22| O0t20etd HHI 3 AH(L=100m, B=3.0m)
20,000,000& =14 20,000
o212l otAZ HAMN2I| 3 AH(L=200m, B=3.0m
) 20,000,000& =14 20,000
oagzel 42 Hdl=3AH(L=100m, B=3.0m)
20,000,000& =14 20,000
O2d32l o2t X &S AH(L=100m, B=3.0m)
20,000,000& =14 20,000
O2d4el *AZHIS AH(L=150m, B=3.0m)
25,000,000& =14 25,000
O2H 12l =2 X &S AH(L=150m, B=3.0m)
20,000,000& =14 20,000
O=2M2el =52 0t=22Z HHI3AH(L=150m)
20,000,000& =14 20,000
O2H3e A== HHl 3 AH(L=80m, H=4.0~5.0
m) 25,000,000& =14 25,000
OHMefltel #*AHF IS AH(L=50m, B=4.5m)
20,000,000& =14 20,000
OMeieel otserd E &S AH(L=150m, B=3.0m)
20,000,000& =14 20,000
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0

At
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SN FE - EA(SA) - MRAY - BES il Bl RE2
OMei3el OtAZ RN I12 AH(L=250m)
25,000,000& =14 25,000
03 Al 2 THHI 1,000 1,000 0
OAE =R HHI 1,000,000 =14l 1,000
He =REEoias Y BHAFY 18,880 17,160 1,720
101 @124 dl 13,880 12,160 1,720
4 JIZtHZ22 s+ 13,880 12,160 1,720
OkLz¥ s =HMA 69,4003 x10Q1 15 10,410
OL=2¥ S My 69,400& 501 102! 3,470
206 M= Hl 5,000 5,000 0
01 =4l 5,000 5,000 0
OHEZAM 500& *10,000= 5,000
FehH HF2FZH| 56,466 55,975 491
Hef s ols 2 A 34,858 36,735 A1,877
HelHel s 2| 34,858 36,735 NT,877
101 124 dl 34,858 36,735 N1,877
01 2= 33,987 36,011 N2,024
OAlZte 224 10,2993 1121 x300A| 2t 33,987
03 I AHA2Z2HE > 871 724 147
ogaEzz2+% 871
DEASAH (A ZEH])
14,5133 121 x60 Al 2t 871
HeHH I =23 bl 21,608 19,240 2,368
HeHI =23l 21,608 19,240 2,368
201 £B-2dH| 6,888 7,080 A192
01 At 22l 6,888 7,080 A192
ORNME2E=EHl 4,584,000 =14 4,584
Oz &l 8,000 1201 +23| x 128 2,304
202 04l 2,000 2,000 0
01 = LH A HI 2,000 2,000 0
O&2| o dl 2,000,000& » 14l 2,000
203 R =&t 10,120 10, 160 A 40
01 122 =4H 6,600 6,600 0
OFecHHE 6,600,000 x1¢l 6,600
02 It =AY 520 560 A40
OIS R =AY 40,000& »13¢! 520
04 RFN2ELRZTH| 3,000 3,000 0
ORM2IYRFLH 250,000& 12 3,000
405 TtHabF S 2,600 0 2,600
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=

i
2

01 AL ESFH SH 2,600
OPC(LL ) 1,300, 000& +2CH 2,600
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2N 2
M 20l FOUBPMUARE 23
ool 20 FUMEX CER-ED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OUSHE=EXNHEEH 520 RAE=>
130,000& =128 1,560
OU=ESEXME 2223 & HMA
4,800,000& =14 4,800
SHHAS A 321,380 319,660 1,720
SN AREFRUSIAAY 321,380 319,660 1,720
SZH FQU=SJAAY 301,000 301,000 0
401 AIEBIZ 201 8I 301,000 301,000 0
01 A& Bl 300,000 300,000 0
=12l BENS 22 52 EZ &3 AHL=300m
) 25,000,000& » 14! 25,000
Osdgec] YIIE 02 23 kA IN=2II(L
=500m) 25,000,000 =14l 25,000
OEg3el g¢§=22 42 0tAZ HM 2] (L=450m
) 25,000,000& =14l 25,000
OAtHI 12l S0I0tE2 21 =4 X3 AH(L=100m)
25,000,000 =14l 25,000
OAMMI22l S=0t2 oFA 2 XX =2 I (L=400m)
25,000,000& » 14! 25,000
OAMMIBEl RES0I2 OFA 2 XM =2 I (L=400m)
25,000,000 » 14! 25,000
OUhHeH 2l SHLIOrES 22 0tAZ M 2] (L=40
Om) 25,000,000 =14l 25,000
Otiereel stofl&fots 2@ otA2 R II(L=
400m) 25,000,000 =14 25,000
Other3el Uis=clotg 22 =2 X SAH(L=
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SHS ARD FUSAY

SA - BB B () - MM - BES Ol &t o San HmEET
StdE FR=JAY 40,000 60,000 A 20,000
401 Al HI K 201 I 40,000 60,000 220,000
01 A& Bl 40,000 60,000 A 20,000
Ostd2 #HA &I (L=1km,B=2m)
20,000,000& =14 20,000
OAne QAL ALY 20,000,000 » 14! 20,000
Stds FRISEHMA 2 A FH 23,400 21,250 2,150
101 @144 dl 17,350 15,200 2,150
04 JIZHHZ2XREES 17,350 15,200 2,150
O&Ez¥ & Ex=HIA 69,4003 x1021x15 10,410
OL=2¥¢ S MeExd 69,4003 x102!1 10 6,940
206 M= Hl 6,050 6,050 0
01 =8l 6,050 6,050 0
OHEZATH 500& 12,1002 6,050
HF2F A 63,009 60,956 2,053
Stds 24| 25,589 24,796 793
Std s 2] 25,589 24,796 793
101 14 Hl 25,589 24,796 793
01 2= 24,718 24,072 646
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03 RIAHA2ZZ2RHE > 871 724 147
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ORNE2E+=EHl 3,892,000 » 14! 3,892
O=gtl 8,000 x9021x23| x 128 1,728
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01 SLHOIYI 21,440 21,440 0
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N = 0l & At & M A

20194
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z
ne
s
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Bl
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0o
e
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H
>
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2N HHS
HE: S HIMY
Sl HHS FoIu

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

A S 373,338 463,266 A 89,928

HGHE dFMHAES 23 235,459 238,282 A2,823

s =pdE 1 235,459 238,282 A2,823

CHHSFOUXXNEH =29 20,000 20,000 0

201 L2l 20,000 20,000 0

01 At 22l 20,000 20,000 0
OFLUXXHE 24l 20,000,000& =14 20,000

s =UEFHAH 137,060 133,780 3,280

301 et A=z 137,060 133,780 3,280

05 8% -0 -tHESEHS 136,060 132,780 3,280
Os&d=¢ 200,000& =371« 12& 88,800
OsH&NH= 200,000 x3721 %23 14,800
Os&soassg 20,0003 #3721 23|« 123 17,760
Otttz e =l 50,000& »29401 14,700

09 &AL HIZB &S 1,000 1,000 0

Ous & AN s FAX AHl2H

1,000, 0002 14| 1,000

s A2 17,557 17,557 0

201 L2l 17,557 17,557 0

02 23224l 17,557 17,557 0
Oz3&22= & HA 11,457,000 * 14! 11,457
oozl 4,100,000 * 14! 4,100
OA& &8s Xl 2,000,000& » 14! 2,000

HHs dFXE 60,842 66,945 26,103

201 Let2d] 29,242 28,595 647

01 At 22l 16,847 17,255 A 408
Oget=&H| 15,847,000& 14 15,847
OxXgdx=z 1,000, 000& *14] 1,000

02 2524l 12,395 11,340 1,055
ORERS 10,000, 000& 14! 10,000
OXESXBI(SXIXE) 2,395,000 «1CH 2,395

202 o4dl 30,600 30,600 0

01 = LH o4 1l 30,600 30,600 0
OJleg =80t 3,060,000& x10& 30,600

405 Xt&tHE SHI 1,000 7,750 A6,750

01 At ESFH S 1,000 7,750 A6,750
OdAE A 500,000& *2H 1,000

SHAHS At 3 55,850 143,700 A 87,850




SN BAS
Za: oS A

el BS ARREOISAEAY (sl &2)
SA - BB B () - MM - BES Ol &t o San HmEET
HGHE ARILFoU=JAAY 55,850 143,700 A 87,850

CHHS Fo=JAMY 30,000 120,000 290,000
401 AIEHIZ 28I 30,000 120,000 90,000
01 A& tl 30,000 120,000 290,000

0298 W2iotg 422 o2 3 AH(L=80m)
30,000,000& =14 30,000

HHs FU=EHMNA 2 SZEH 25,850 23,700 2,150
101 @14l 17,350 15,200 2,150
04 D12t 22 EE = 17,350 15,200 2,150

O&z2¥¢ s E=MA 69,4003 x10Q!«15 10,410
OEzY¥ S Ny 69,4003 x1021x10 6,940
206 = Hl 8,500 8,500 0
01 =8l 8,500 8,500 0
OHZBZAT 500& 17,0002 8,500
s dF2F 82,029 81,284 745
CAHES eld2dE| 52,525 51,740 785

s =29l 52,525 51,740 785
101 14l 52,525 51,740 785
01 2= 52,525 51,016 1,509

OAZA22Y 10,299& %1721 x300A| 2t 52,525
HHs JI=234l 29,504 29,544 A 40

CHAHS J122dl 29,504 29,544 A40
201 et 8,304 8,304 0
01 At 2teltl 8,304 8,304 0

ORNE2E=EHl 5,040,000 » 14! 5,040
O=gtl 8,000 #1721 x23| x 128 3,264
202 oddl 10,280 10,280 0
01 = LH o4 1l 10,280 10,280 0
O&2 ™o dl 2,000,000& » 14! 2,000
OJlege+=a80tl 8,280,000 » 14! 8,280
203 R =&t 10,920 10,960 A 40
01 )1 228 YR =2H 6,600 6,600 0
oHtAs® 6,600,000& x1¢! 6,600
02 33 H 2= 720 760 A 40
OFAINH S = 40,000& x18¢! 720
04 FN2ELRZ=TH| 3,600 3,600 0
ORAN2EYE=THI 300,000& 122 3,600




N = 0 &8 AH Y H N AN
20199 & 20l & LB H SUS ~ X AW
SN RS
Bu: 24S ZOBINUIA BE Ys
Sl QUSFUMBX CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
LS 358,076 422,232 N64,156
SUS FOUMHHAHA S 23 157,371 161,706 N4,335
PAuSFUMET] R 157,371 161,706 N4, 335
SUS FOXNXNHAEHSS 15,000 15,000 0
201 et A | 15,000 15,000 0
01 AFR2t2l Yl 15,000 15,000 0
OFUXNXHEH 234 15,000,000 =14 15,000
FOUEFHHH 94,580 94,580 0
301 dBEtE A= 94,580 94,580 0
055 ESH -0/& .- BtEEEsEAZ 93,580 93,580 0
Os&sY 200,000& x26021 x12& 62,400
OS&EANHSB 200,000 *262! %23| 10,400
O8&3IIg& &Y 20,0003 #2621 x23| 128 12,480
Oeta g st 50,000& x1662! 8,300
09 HAIAH EA =S 1,000 1,000 0
ORS L BA S HAR AHZY
1,000,000 * 14! 1,000
HAMSF 2 16,613 12,953 3,660
201 et A | 11,613 12,953 A 1,340
02 53294l 11,613 12,953 A 1,340
03322 % MA 9,213,000& * 14 9,213
OAl& & Hl s XYl 1,000,000& * 14 1,000
(@)sE=3s] 1,400,000 * 14 1,400
401 AIEHIL 200 5,000 0 5,000
01 A& bl 5,000 0 5,000
OFAL HIE & HEHEB 3 A 5,000,000 *14] 5,000
HAE X 31,178 39,173 AT,995
201 Bt A | 24,978 23,923 1,055
01 At 22l Yl 16,583 16,583 0
Oget=gH| 16,083, 000& =14 16,083
Oxegdxtz 500, 0003 *14] 500
02 352494l 8,395 7,340 1,055
oRE2 6,000,000& x 14 6,000
OXsEs b (=X ) 2,395,000& = 1CH 2,395
405 XtabF S| 6,200 15,250 A 9,050
01 A&t =S F SHI 6,200 15,250 A9,050
OoZzg(H) 700,000& =204 1,400
HE D (LA 700,000 = 1CH 700
OTV(m A) 1,150,000& = 1CH 1,150




SN PHS
Bu: 24S ZOBINUIA BE Ys
S RQMNSEOIMBI S (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OPC(Hl) 1,300, 000& «2LH 2,600
OHA(AH) 350,000 = 1CH 350
AtS AFE A H| 124,163 177,787 N 53,624
LQUMNSARDFO=RAAS 124,163 177,787 NB3,624
LQNE FOU=SRAAY 93,400 150,000 A 56,600
401 Al HI L £ 0HHI 93,400 150,000 A 56,600
01 Al& b 93,400 150,000 A 56,600
O21€ 2202 B2 &X L ZEHZ2AH(L=98
m, B=3mm) 44 700,000 «1A! 44,700
Ost=2da A=XAF & A2 AH(L=123nm,
B=3m) 20,000,000 x 14! 20,000
O12g =342 & X (L=3n) 5,500,000 =14l 5,500
O22 21 sHaAY 23,200,000 1Al 23,200
TS 2R 6,663 5,837 826
101 2121 H] 6,663 5,837 826
04 JI2ZtHIZ2 2 NEE 6,663 5,837 826
ORMts Xote SHFAY|
69,400& 121 x8L x 128 6,663
AtE F=0I=SHHA Y EAH A 24,100 21,950 2,150
101 Q124 H| 17,350 15,200 2,150
04 JI2ZtHIZ22ANEES 17,350 15,200 2,150
OoxzH & E=x=HHA 69,400 x10QI x15 10,410
OkEzH & H&E&Y 69,400& 102! x10L 6,940
206 M EHl 6,750 6,750 0
01 X2t 6,750 6,750 0
OHEZATH 500& 13,500 6,750
QUE HE2FHH 76,542 82,739 NG,197
QNS E2HH| 34,858 36,735 N 1,877
ol =AY 34,858 36,735 N1,877
101 124 H| 34,858 36,735 N1,877
01 2 33,987 33,010 977
OAZt224% 10,299 * 1121 %300 A| 2+ 33,987
03 I HLsZ22 NHE 871 724 147
oddIzZEzxx=g 871
DEAESAR(SHAY])
14,512 x 121 x60 Al 2+ 871
s D2 41,684 46,004 N4,320
Jl2 &4l 41,684 46,004 A4 320
201 et 9| 5,804 5,804 0




2N
X ZH -
L= B

el

40 40 H0

& s
MES dE2E 3
& s Jl=23H

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2

01 AFR2 22l Yl 5,804 5,804 0
MG+ 3,500,000 x 14! 3,500
O= &l 8,000 x 1201 x235| x12& 2,304

202 (4] 25,760 30,080 N4,320

01 2L Y] 25,760 30,080 N4,320
OJI2g 230 bl 1,980,000& x12& 23,760
O22 ¢l 2,000,000& * 14 2,000

203 € R =&lY| 10,120 10,120 0

01 J|22H L RF=AH| 6,600 6,600 0
ORNsSE 6,600,000& x1¢! 6,600

02 RIS R = XY 520 520 0
OFAINAMARFEY| 40,000 =13¢2! 520

04 2SI L RF=AH| 3,000 3,000 0
ORBNSIgIRF&Y| 250,000& = 12& 3,000




= 0l & g 9 A A
T 20a LU AH 2SS NS Al D
D HEIS
B IS FOUBIALA B
?: HE1S UM (chel & 9l)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
349,200 346,699 2,501
S FUHIAMNMHIA 52 107,901 128,006 AN 20,105
18 F0MEXA 107,901 128,006 N 20,105
&S FUXNXNLAEHSE 20,000 20,000 0
201 et A | 20,000 20,000 0
01 AFR2t2l Yl 20,000 20,000 0
OFUXNXHEH 234 20,000, 0003 *14] 20,000
s FUEFHHEH 62,060 62,060 0
301 dBEtE A= 62,060 62,060 0
0588 -01& - BHEESE2AS 61,060 61,060 0
Os&sY 200,000& =172l x12& 40,800
OS&EANHSB 200,000& *1721 23| 6,800
O8&3IIg& &Y 20,000& #1721 x23| 128 8,160
Oeta g st 50,000& x106¢2! 5,300
09 HAIAH EA =S 1,000 1,000 0
ORS L BA S HAR AHZY
1,000,000 * 14! 1,000
EH&1S A2 2 6,946 6,946 0
201 et A | 6,946 6,946 0
02 53294l 6,946 6,946 0
03322 % MA 5,246,000& * 14 5,246
(@)sK=3] 700,000& * 14! 700
OA & &Hl S XYl 1,000,000 * 14 1,000
EHE1S HE XA 18,895 39,000 AN 20,105
201 LEt2 Y| 18,895 17,840 1,055
01 AFR 2t 2l bl 11,500 11,500 0
Ogt2H| 9,000,000& * 14 9,000
o944 1,500,000 * 14! 1,500
OxsEdxz 1,000,000& * 14 1,000
02 35244l 7,395 6,340 1,055
oREe2 5,000,000& x 14 5,000
OXERXIH (=X Xt 2,395,000& = 1CH 2,395
S At &l 174,750 170,900 3,850
EHEIS A2 FOUSJAY 174,750 170,900 3,850
EHE1S FU=SJAAMY 150,000 150,000 0
401 Al HI L £ 0HHI 150,000 150,000 0
01 A& HI 150,000 150,000 0
O8szE T2ZAHN SAH(172H) (L=111m)
30,000, OOOOJ*VA! 30,000




D HEIS
D EHHEIS A 3]
CHAIS ARZ FO=2AY

= _ — d =
SA - B (SH) - MRAY - BYS e 2
O8ZE2 T2ZAHA WHBAH272H)(L=201m)
55,000,000 =14l 55,000
OXlet2 ol & HHI 2 AH(L=260m, B=2.5m)
25,000,000 =14l 25,000
OSEOS 0/HEZ OtAZ NI 2 AH(L=49
Om,B=4.5m) 30,000,000& =14l 30,000
OtH&AsS Sdl2 XYZ 0tAZ2 EZEH S AH(L=166
m,B=4m) 10,000,000 * 14! 10,000
EBHE1Es =284 & SFEH| 24,750 20,900 3,850
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0Ol &F 08
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02 =224 H| 4,416 0 4,416
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PEERIANELE | & Xl HI
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O4 xHeFHehd] 3,416
DIXUSRXNZEH(EZ2SANES)
3,416,000 =1CH 3,416
206 M 2 Hl 4,350 0 4,350
01 X2 4| 4,350 0 4,350
C2HE4+E E5lE 14,5002 *300 % 4,350
305 HHAZ2S 3,000 3,000 0
01 A Z2S 3,000 3,000 0
S22 =oltha2 3,000,000 =14l 3,000
401 Al HI L £ 0HHI 150,500 150,500 0
01 Al& B 150,000 150,000 0
OEZRANEL 150,000, 000& = 14! 150,000
03 Al&E 201 Y| 500 500 0
OA&EE0Hdl 500,000 =14l 500
SUHMSAIE X £ & 22,400 22,400 0
201 LBt Y| 2,400 2,400 0
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o1 3s32 ¥ 2,400
DHEAIE &8O 100,000 12& 1,200
DHMFAIE Aot 100,000& ~12& 1,200
401 Al HI L £ 0HHI 20,000 20,000 0
01 Al& H| 20,000 20,000 0
OsUldMsANd &
20,000,000 x 1Al 20,000
HAE2H A 91,219 78,362 12,857
ol =2HH| 50,223 39,526 10,697
ol AY| 50,223 39,526 10,697
101 Q124 H] 50,223 39,526 10,697
01 2 40,167 33,010 7,157
OAZt224% 10,299 x13Q21 *300 Al 2+ 40,167
02 JIEtE 2 2= 3,090 0 3,090
OAZ2tZ224+% 10,299 121 x300A| 2+ 3,090
03 RIAHE*ZZXHE 6,966 6,516 450
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